R#nfE -9 =#MF1 No.l

1. ROKX & RES R X, (6) 2a% —ab—b?

(1) 3a2 + 5ab + 2b2

.

(2) 3a®+ 4ab + b?

pia

(3) 3a2+ 10ab + 3b2

(4) 2a® + 7ab + 5b®

%

(5) 3a2 + 8ab + 5b2

(7) 2a® — 3ab — 5b?

i

(8) 3a®+ ab — 2b?

.

(9) 3a®+ 16ab + 5b2

/S

(10) 3a* + 2ab — b*

¥




R# R -9 =#MF1 No.2

1. RO % KR X, (6) 3a®+ 2ab — b2

(1) 2a2+ 3ab + b2

.

(2) 2a% + 11ab + 5b2

pia

(3) 3a2 + 5ab + 2b2

(4) 3a® + 4ab + b?

%

(5) 2a2 + 5ab + 3b2

(7) 3a® — 2ab — b?

i

(8) 2a%+ ab—b?

.

(9) 242+ 7ab + 3b?

.

(10) 2a? — 3ab — 2b?

¥




R# R -9 =#F+1 No.3

1. RO % KR X, (6) 3a®+ 2ab — b2

(1) 3a2 + 5ab + 2b2

.

(2) 242+ 7ab + 5b®

pia

(3) 3a2 + 8ab + 5b2

(4) 2a® + 5ab + 3b?

%

(5) 2a? + 3ab + b?

(7) 3a®+ 16ab + 5b2

i

(8) 2a2 — 9ab — 5b2

.

(9) 2a% 4+ ab—b?

2

(10) 3a? — 2ab — b?

¥




R#ofE =9 &#MT1 Nod

1. RO % KR X, (6) 2a2 — ab — 3b?

(1) 3a2 + 5ab + 2b2

.

(2) 2a®+ 3ab + b?

pia

(3) 2a2 + 5ab + 3b2

(4) 3a® + 4ab + b?

%

(5) 2a2 + 7ab + 5b2

(7) 3a® + 8ab + 5b?

i

(8) 3a? + 2ab — b?

.

(9) 3a? — 14ab — 5b2

.

(10) 2a? + Hab + 2b>

¥




Ko -9=#H+1 No.5b
1. ROX & RE i L,

(1) 2a2+ 3ab + b2

(6) 2a2 — 9ab — 5b?

.

(2) 3a®+ 16ab + 5b2

(7) 2a® —ab—1?

pia

(3) 2a2 + 5ab + 2b2

i

(8) 2a%+ ab—b?

(4) 3a® + 4ab + b?

.
(9) 3a® — 2ab — b?

%

(5) 2a2 + 5ab + 3b2

/

(10) 3a? + Hab + 2b>

¥




